

p507

(91)  $\int_0^1 y e^{-2y^2} dy$      $u = -2y^2$      $u(1) = -2(1)^2 = -2$   
 $u(0) = -2(0)^2 = 0$   
 $du = -4y dy$   
 $-\frac{1}{4} du = y dy$

$-\frac{1}{4} \int_{u(0)}^{u(1)} e^u du$

$-\frac{1}{4} e^u \Big|_0^{-2} = -\frac{1}{4} e^{-2} - \left(-\frac{1}{4} e^0\right) = \boxed{-\frac{1}{4e^2} + \frac{1}{4}}$

(93)  $\int_2^4 \frac{1+x-x^2}{x^2} dx = \int_2^4 \frac{1}{x^2} + \frac{1}{x} - 1 dx$

$= \left[-1x^{-1} + \ln|x| - x\right]_2^4 = -\frac{1}{4} + \ln 4 - 4 - \left(-\frac{1}{2} + \ln 2 - 2\right)$   
 $= -\frac{1}{4} - 2 + \ln 4 - \ln 2$   
 $= \boxed{-\frac{7}{4} + \ln 2} \quad \vee \ln\left(\frac{4}{2}\right)$

(95)  $\int \frac{e^{\sqrt{x}}}{\sqrt{x}} dx$      $u = \sqrt{x} = x^{1/2}$   
 $\frac{du}{dx} = \frac{1}{2} x^{-1/2}$   
 $2 du = \frac{1}{\sqrt{x}} dx$

$= 2 \int e^u du$   
 $= 2e^u + C$   
 $= \boxed{2e^{\sqrt{x}} + C}$

(97)  $\int \frac{x+1}{x^2+2x} dx$      $u = x^2 + 2x$   
 $du = 2x + 2 dx$   
 $du = 2(x+1) dx$   
 $\frac{1}{2} du = x+1 dx$

$= \frac{1}{2} \int \frac{1}{u} du$   
 $= \frac{1}{2} \ln|u| + C$   
 $= \frac{1}{2} \ln|x^2+2x| + C$

(99)  $\int \tan x \ln(\cos x) dx$      $u = \ln(\cos x)$   
 $du = \frac{1}{\cos x} \cdot -\sin x dx$   
 $du = -\frac{\sin x}{\cos x} dx = -\tan x dx$

$= -\int u du$

$= -\frac{1}{2} u^2 + C$   
 $= -\frac{1}{2} (\ln(\cos x))^2 + C$

$$\textcircled{101} \int 2^{\tan \theta} \sec^2 \theta d\theta \quad u = \tan \theta$$

$$du = \sec^2 \theta d\theta$$

$$= \int 2^u du$$

$$= \frac{2^u}{\ln 2} + C$$

$$= \frac{2^{\tan \theta}}{\ln 2} + C$$

$$\textcircled{103} \int \frac{\sec \theta \tan \theta}{1 + \sec \theta} d\theta \quad u = 1 + \sec \theta$$

$$du = 0 + \sec \theta \tan \theta d\theta$$

$$= \int \frac{1}{u} du$$

$$= \ln |u| + C = \ln |1 + \sec \theta| + C$$